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(Furs61)

public class Name implements Searchable<Name.Criteria> {
private final String familyName, givenName;

public static class Criteria implements E {
private final String familyName, givenName;



public Criteria(String familyName, String givenName) {
this.familyName = familyName;
this.givenName = givenName;
}
private boolean areMetBy(Name name) {
return (familyName == null
|| name.familyName.equals(familyName))
&& (givenName == null
|| name.givenName.equals(givenName));
}
}

public Name(String familyName, String givenName) {
this.familyName = familyName;
this.givenName = givenName;

}

public String getFamilyName() { return familyName; }
public String getGivenName() { return givenName; }

public boolean meets(Criteria criteria) {
return criteria.areMetBy(this);
}

public String toString() {
return familyName + " " + givenName;
}

}

(Forsn2)

public class Address implements Searchable<Address.Criteria> {
private final int postalCode3, postalCode4;
private final String addr;

public static class Criteria implements SearchCriteria {
private final int postalCode3, postalCode4;
private final String addr;

public Criteria(int postalCode3, int postalCode4,
String addr) {
this.postalCode3 = postalCode3;
this.postalCode4 = postalCoded;
this.addr = addr;
}
private boolean areMetBy(Address address) {
return (postalCode3 < ©
|| postalCode3 == address.postalCode3)
&& (postalCoded < ©
|| postalCode4 == address.postalCode4)




&& (addr == null
|| address.addr.contains(addr));

}

}

public Address(int postalCode3, int postalCode4, String addr) {
this.postalCode3 = postalCode3;
this.postalCoded4 = postalCode4;

this.addr = addr;
}

public boolean meets(Criteria criteria) {
return criteria.areMetBy(this);

}

public String toString() {
return String.format("T%03d-%04d %s",
postalCode3, postalCode4, addr);

(7055 5h3)
import java.util.HashSet;
import java.util.Set;

public class AddressBook {
private Set<Entry> book = new HashSet<Entry>();

public void add(Name name, Address addr) {
book.add(new Entry(name, addr));

}

public void remove(Entry entry) { book.remove(entry); }

public Set<Entry> meetsAnyOf(SearchCriteria... criteria) {
Set<Entry> result = new HashSet<Entry>();
for (SearchCriteria sc : criteria) {
for (Entry entry : book) {
if (entry.meets(sc))

3
}
}
return result;

}

public Set<Entry> meetsAllOf(SearchCriteria... criteria) {
Set<Entry> result = new HashSet<Entry>(book);
for (Entry entry : book) {
for (SearchCriteria sc : criteria) {
if (lentry.meets(sc)) {



return result;

public static class Entry implements

Searchable<SearchCriteria> {
private final Name name;
private final Address addr;

public Entry(Name name, Address addr) {
this.name = name;
this.addr = addr;

}

public Name getName() { return name; }

public Address getAddress() { return addr; }

public boolean meets(m criteria) {

if (criteria instanceof Name.Criteria)
return name.meets((Name.Criteria) criteria);

if (criteria instanceof | e |)
return addr.meets((| e |) criteria);

return false;

}

public String toString() { return name + ": " + addr; }

(Fussh4)
public interface SearchCriteria {

(FOos 5 Ls)

public interface Searchable<T extends SearchCriteria> {
public boolean meets(T criteria);

(Fos5 6]

public class Test {
public static void main(String[] args) {



AddressBook addrbook = new AddressBook();

addrbook.add(new
new
addrbook.add(new
new
addrbook.add(new
new
addrbook.add(new
new

Name("{&%R", "AKBR"),

Address (102, 4567, "RER#MTHLEEX"));
Name("{B¥R", "TEF"),

Address(102, 4567, "RE#ALFHAK"));
Name ("#%fifT", "XEB"),

Address (225, 1234, "#EMEEKX"));
Name("&(B&", "—BA"),

Address(980, 9876, "IBTHEEX"));

System.out.println(addrbook.meetsAnyOf(

new Name.

Criteria(null, "XER"),

new Address.Criteria(-1, -1, "BHERX")));
System.out.println(addrbook.meetsAl10f(

new Name.

Criteria(null, "XER"),

new Address.Criteria(-1, -1, "BHERX")));
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